
1. 어휘 문제 : 1번, 2번, 3번, 14번 완벽적중

2. 어법 문제 : 4번, 7번, 8번, 10번 완벽적중

3. 생활 영어 문제 : 9번, 12번 완벽적중

2018년 3차 경찰공무원(순경) 채용시험문제  

어휘, 어법, 생활영어 적중률 100%
的中의 여신!!  하승민 영어 It’s English !!



1. 다음 밑줄 친 단어의 의미와 가장 가까운 것은?

 It is obligatory for everyone in a car to wear a seat belt.

 ① clumsy ② nebulous ③ compulsory ④ mutable

 

[Obligatory]
→ 보카 1000 제 Day 14 135 쪽
17 Do you think that physical education should be obligatory?
① pushy ② recommendable ③ exemptible ④ required

[clumsy]
→ 3 단계 2 회 4 번
04. 밑줄 친 부분과 의미가 가장 어색한 것은?

② This is the work of a dexterous bomb maker. (= clumsy)

2. 다음 빈칸에 들어갈 단어로 가장 적절한 것은?

 The police found no _______  evidence that he was involved in 
that crime.

 ① lacking    ② impending   ③ compelling  ④ upcoming

[impending]
→ 특별 보충문제 4 회
③ She had a sense of impending disaster. (= forthcoming)

[compelling]
→ Voca 1000 제 동의어

3. 다음 빈칸에 들어갈 단어로 가장 적절한 것은?

 Because aging is one of the ________  realities that one cannot 
really fight against, the best one can do is to keep oneself healthy so 
as to age with grace and fitness.

 ① incipient   ② inexorable   ③ congenial   ④ salutary

[congenial]
→ Voca 1000 제 Day 4 47 번
They are soul mate, who are congenial in temperament with each 
other.① agreeable ② authentic ③ boisterous ④ deluxe



4. 다음 ㉠, ㉡에 들어갈 말로 가장 적절한 것은?

· Seohee (  ㉠  ) her book on the table.
· The heavy snow prevented us (  ㉡  ) baseball.

 ① ㉠ lay ㉡ to play ② ㉠ lay ㉡ from playing
 ③ ㉠ laid ㉡ to play ④ ㉠ laid ㉡ from playing

[lie / lay]
→ 파이널 어법찍기 20 번
1. After three failures a successful cable was ______ in 1886.

① lay ② laid ③ lied ④ lain

[prevent O from ~ing]
→ 2 단계 6 회 6 번
② 그는 폭우로 회의에 참석하지 못했다.
→ The heavy rain prevented him from attending the meeting.

7. 다음 밑줄 친 부분 중 어법상 가장 적절한 것은?
 ①The game was watching outside the stadium on a huge screen.
 ②We will never get to the meeting unless the train leaves within five 
minutes.
 ③With sunshine streamed through the window, Hugh found it 
impossible to sleep. 
 ④The water which she fell was freezing cold.

[기본수동태]
→ 봉투 모의고사 1 회 6 번
다음 밑줄 친 부분 중 어법상 옳지 않은 것은?
At other times, a movie set ① is built “on location,” ② which 
means outside the studio. 

[시조부현미]
→ 봉투 모의고사 1 회 10 번
If we ③ don’t understand how others are feeling, our 
communication may suffer.



[with A B 부대상황]
→ 봉투 모의고사 2 회 10 번
While Bangladesh has a rich cooking tradition, with elaborate 
multi-course meals (A) [characterized / characterizing] the tables 
of the country’s richest citizens, the food served on the streets is much 
simpler.

→ 3 단계 1 회 9 번
② It is not polite to speak with your mouth wide opened.

[전치사 + 관계대명사]
→ 빅매치 2 회 10 번
Upon returning from chapel he found that it had overturned a lighted 
taper on his desk, which set fire to several papers (A) [which / on 
which] he had recorded the results of some optical experiments.

→ 2 단계 7 회 4 번
When ① we think about loss of freedom, we seldom focus on the 
ways ② in which we voluntarily impose constraints on our lives.



8. 다음 우리말을 영작한 것 중 가장 적절한 것은?
 ① 유수는 그 회사에 지원하는 것을 고려하고 있다.
   → Yusoo is considering applying for the company. 
 ② 그 경찰서는 난민들에게 생활필수품을 제공했다. 
   → The police station provided commodities with refugees.   
③ 판사는 죄수가 재구속되어야 한다고 명령했다.
   → The judge ordered that the prisoner was remanded.
 ④ 그는 물속으로 깊이 잠수했다. 
   → He dived deeply into the water.

[consider ~ing]
→ 2 단계 9 회 8 번
② 자신의 HIV 상태에 대해 잘 모르는 경우 검사를 고려해 봐라.
→ If you are unsure of your HIV status, consider having a test.

[provide A with B] 
→ 파이널 어법찍기 11 번
11. I am busy providing my children  ______  food and clothes.

① from ② with③ for ④ of

→ 1 단계 동사의 문형 2 번
⦁Books provide children with ideas and a stimulus for play.

[주요명제]
→ 하어친 동사의 문형과 형태 기출문제 21 번 완벽적중!
21 다음 문장 중에서 틀린 것을 고르시오.
① The judge ordered that the prisoner be remanded.

→ 봉투 모의고사 2 회 7 번
④ 그는 시민권은 인류의 것이므로 유태인에게 동등한 권리가 
주어져야 한다고 주장했다.
→ He insisted that the Jews be granted equal rights because civic 
rights belong to humans.

→ 2 단계 3 회 9 번
④ 그녀는 무대가 백합으로 장식될 것을 제안했다.
→ She suggested that the stage be decorated with lilies.



[deep / deeply]
→ 1 단계 형용사/부사 26 번
③ I was impressed deeply when I heard his story.

9. 다음 A, B의 대화 중 가장 적절하지 않은 것은?
 ① A:Wasn’t that last question on the test tough?
    B:Yes, it was tricky.
 ② A:Hi, please transfer me to Ella Jones. 
       This is her husband.
    B:I’ll put you right through.
 ③ A:Why is Mina so fed up at her job?
    B:She feels overeaten.
 ④ A:Chanhee? What brings you to London? 
    B:I just arrived on business.

[put through]
→ 봉투모의고사 2 회 9 번
② A: Hi, I’m calling because of the camera and I need to talk with the 
engineer. Is he available?
B: That should be no problem. Please wait for one minute while I put 
you through to the electronics department.

10. 다음 밑줄 친 부분 중 어법상 가장 적절하지 않은 것은?

 If properly stored, broccoli will stay ㉠fresh for up to four days. The 
best way to store fresh bunches is to refrigerate them in an open 
plastic bag in the vegetable compartment, ㉡which will give them the 
right balance of humidity and air, and help preserve the vitamin C 
content. Don’t wash the broccoli before ㉢storing it since moisture on 
its surface ㉣encourage the growth of mold.

[2 형식 동사+형용사보어]
→ 2 단계 6 회 8 번
8. 다음 글의 빈칸에 들어갈 말로 어법상 가장 적절한 것은?
Reading the newspaper every day is one way 
____________________ locally and internationally.① to stay informing of all the events happened② stayed informed that all the events happening③ to stay informed of all the events happening④ to stay informed of all the events happened

→ 빅매치 1 회 6 번
06. 다음 글의 빈칸에 들어갈 말로 어법 상 가장 적절한 것은?
Jack was used _________________________ when giving 
presentations.



① to talking to large groups, he rarely got nervously② to talking large groups, so he didn’t rarely get nervous③ to talk to large groups, so he rarely got nervously④ to talking to large groups, so he rarely got nervous

[관계사 계속적용법]
→ 3 단계 3 회 5 번
⦁Iron is made from iron ore, ② that we could probably mine. (that 
→ which)

→ 봉투 모의고사 1 회 6 번
다음 밑줄 친 부분 중 어법상 옳지 않은 것은?
At other times, a movie set ① is built “on location,” ② which 
means outside the studio. 

[전치사 + 동명사]
→ 2 단계 12 회 9 번
By placing the trees near the edge of the yard and ② grow grapes 
on the fence, we can still have an enjoyable outdoor living space. 
(grow → growing)

[주어 동사 수일치]
→ 2 단계 특별보충문제 5 회
06. 다음 글의 빈칸에 들어갈 말로 어법상 가장 적절한 것은?
One of the best-known examples of __________________ from the 
research of Carol Gilligan.① what social position affects socialization comes② how social position affects socialization comes③ how social position affects socialization come④ what social position affects socialization come



12. 다음 밑줄 친 표현의 의미와 가장 가까운 것은?

A:I’ve heard that you got a job offer.
B:Yes, but I am not sure whether to take it or not.
A:Really? I thought you wanted to make a change in your career. 
B:Yes, but it is hard to make a decision.
A:Take your time and ponder it.
B:Thank you.

 ① mull it over ② weigh it down
 ③ make up for it ④ take it down

[mull over]
→ Voca 1000 제 Day 3 16 번
16 밑줄 친 부분과 의미가 가장 어울리지 않는 것은?
① She needed some time to think over his proposal. (= mull over)

[make up for]
→ 2 단계 6 회 3 번
3. 다음 글의 빈칸에 들어갈 말로 가장 적절한 것은?
Unfortunately, however, poor conditions in the urban areas, such as 
lack of housing, worsening sanitation and unemployment, 
____________ an increase in poverty, disease, and crime.① give way to ② make up for ③ bring about ④ abide by

14. 다음 글의 주제문을 만들기 위해 ㉠, ㉡에 들어갈 말로 
가장 적절한 것은?

 The underlying idea of world history is that the interaction among 
human societies resembles not the relationships among billiard balls, 
but rather among bacteria. Billiard balls rolling around the table may 
collide and affect each other’s trajectories, but they do not actually 
change each other: The eight ball is an eight ball even after it is struck 
by the cue ball. Bacteria, however, fundamentally shape each other as 
they interact. Because the membranes covering bacteria are full of 
pores, bacteria can exchange genetic information and can even 
fundamentally alter each other’s basic make-up when they touch. 
Similarly, human societies in contact affect each other’s development. 
World historians, recognizing this, seek to understand human history 
through studying both developments within societies and the way in 

[reciprocal]
→ Voca 1000 제 Day 13 
36 Mutual understanding and negotiation is the key to growth and 
development as an assembly.

① illegible ② reciprocal ③ rhetorical ④ stealth

[amend]
→ Voca 1000 제 Day 2
8. The U.S. Constitution was amended to give women the right to 
vote.① authorized ② concurred ③ modified ④ proclaimed



which societies relate to each other.                         

< 주제문 >
 World history is that of (  ㉠  ) relationships between human 
societies in which human societies, like bacteria, have interacted and (  
㉡  ) each other into a fundamentally different society.

 ① ㉠ inverse ㉡ amended
 ② ㉠ reciprocal ㉡ transformed
 ③ ㉠ cozy ㉡ absorbed
 ④ ㉠ diplomatic ㉡ isolated


